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Question Number : 1 Question Id : 5244765601 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Gauss law of electrostatics in absence of charge density (p) 1s (here D 1s electric
displacement. €, 1s free space permittivity) :

750 0B (p) BID) I DB E ¢35 ) Ty, TR0 IO (0¥ D ©TE DS
(25050, 20 @R 279 D0 L)

Options :

1. VD=0
1.9

2.VD=p

2. %



3.VD =p/s

3. &

4.VD = 4mp

4. %

Question Number : 2 Question Id : 5244765602 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The electric field intensity (E) due to an uniformly charged sphere at any external point 1s
same as if the charge 1s :

DT 2575 0N D VEEBS’ 300 TAHWAS FS0 S2BL0OT™ DE0SS
3 (5 Bd¢h (B) 0S50 00nd ol 70

1. Concentrated at the center of the sphere

RS0 06565 B0 BEHS D &0

1LV
2. On the surface area of the sphere
A0 BBnE) SH8S JITD0D
2. %
3. At the external point under consideration
DORIS 22T FONOES S
3.%
4. All over the volume of the sphere
S0 TBNE), TOTLD 90 ET
4. ®

Question Number : 3 Question Id : 5244765603 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The electric field intensity at a distance r from the dipole of dipole moment P ( along the
axis of the dipole) 1s given by :

B80S § 890 P (BIFS TBwE) 80 o) 008 r SrSoeS &) DS 3

3| d5¢h

Options :
P
1 47e o1
1. ®
F
’) 27E gF



Question Number : 4 Question Id : 5244765604 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Energy stored in a capacitor C connected to a battery of voltage V 1s
S5 V BnE) a75er88 00005702 AS Tarderd S ded ¢
[OHVAS $8 3

Options :
|
1. %
1
2. =CV?
2.¢ i
. B T
3%
1
4 -CV
4. % -

Question Number : 5 Question Id : 5244765605 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Dielectric constant of a material 1s a measure of 1ts

2,8 HEB0 TE) NN E VT 050 & T0E), Sered.

Options :

1. Charge storage capability
0 Qo § D PS0

1. ¥

1

energy storage capability

38 Qe g AP0

3. voltage storage capability

STB25 et Y50

3. %



4. all the above
DI

Question Number : 6 Question Id : 5244765606 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

One Farad equals to

08 Qo°&H DT
Options :
1. 1 Columb/Volt
. 18re0d Y]
1.+
2. 1 Newton/Columb
1 Srse/8re05
2. %
3. | Newton/meter
L] VLRSS

4. 1 Volt/Sec/Ampere
1 SO/RES /3000

4.%

Question Number : 7 Question Id : 5244765607 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If the distance between two magnetic poles 1s halved, the force between them
BOCR AN 0e (07 0§ TS0 S8 0SB, s0e3 ¢SS 38 .
Options :
1. decreases by two times

DOCD BEY A0

1. %
2. 1ncreases by 4 times
. 4 B DRHEAOD
2.¥
3. increases by two times
. DO BED & HeHod
3.

4. decreases by 4 times

4 70 S$Hedood



Question Number : 8 Question Id : 5244765608 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The unit of magnetic flux density 1s

S5°1),¢38 D5 B3 &S

Options :
1. Weber/meter

Sd/erd

1. ®
2. Tesla
AL
2
3. Newton/weber
A5/ B20D
3 %
4. At/meter
S /ed
4. %

Question Number : 9 Question Id : 5244765609 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

When the relative permeability (i) of material 1s less than one, it 1s

DO TBNE) T8 S0 5ed (1) 2.5¢3 F0BY S50 e ed) D).
TN

Options :

I. Diamagnetic

SOSTSTT 638

2. paramagnetic

PT° D)0

-

3. ferromagnetic

DT @006

4. non-magnetic

0D®YL0S0 52N

4. 8

Question Number : 10 Question Id : 5244765610 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



A capacitor of 0.1 micro farads is first charged and then discharged through a resistance
of 10 mega ohms. Find the time taken ( in secs) for the potential to drop to half of the
original value ( here In is natural logarithm)

0.1 DIE TSR Taredd e t°0 TAHVS0E SHOAW 10 e
2,00 BIRS ) T°LT° DDA TADVEDS0E). @HeD eSS O
HEIETD H0erssed D0 S3NEN) DNAIT) (REIS’) LTS0S () ¢8
In OF*23 0P S0).

Options :
1. In(2)
1.4
2. 1n(0.01)
2. %
L3 ()
4. zero
4. ®

Question Number : 11 Question Id : 5244765611 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Hall effect is a technique which can be used for finding of material
O DG 0O Do BwE), EDFIT8 G HBrA0T
2,8 OSB3,
Options :
1. Charge carrier concentration
» 20 550000 5°(fich
2. magnetostriction
L, SMERES
3. peizoresistance
. DSBIVS)

4. magneto resistance

SPBYE DESEes

Question Number : 12 Question Id : 5244765612 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Three LCR circuits are with same L and C but different resistors R. 2R and 3R
respectively have quality factors Q1, Q2 and Q3 respectively, then

S03°¢8 LCR DT 5650 2.3 L 0O C& &0EFoN S°Q) DD BDen R,
IR DB 3R SAIT 2 DeS seSsPen Q1. Q2 DB Q3 EOA S0,

€95)))CR
Options :
L -

2. Q1>Q2> Q3

2 ¥
3%

4. Q1>Q2< Q3
4.%

Question Number : 13 Question Id : 5244765613 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

An A .C. voltage 1s expressed by: v =V, sin (ot + 7/2) volts. The instantaneous value
of the voltage at t = 0 1s

AC. S8 v =Vm sin (ot + 12) SSen oo S58860%0306. t=0
38 STB2E TWE), 5.9 Dewd

l . \‘rn} VOltS

1.¢

2. \{v]_u /2 VO 113
2. &

3. Vmvolts
3 0%

i 4. Vm /2volts
4.

Question Number : 14 Question Id : 5244765614 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the equation J=cE. J is
J=6E O0ESe0, ]
Options :

1. Current per unit area

QPR (ar0&EV8 §BOE



2. current per unit length
. ONTAE resYdo §B0ED
3. Current per unit volume
. OPAE s EDOE
4. current per unit density
APAE 0| DedS ETOED
4, %

Question Number : 15 Question Id : 5244765615 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

For a positive charge the lines of force are

et 8 w300 850 ¥8 Bew E0LETOW.
Options :

1. Radially outward

BRODST 27° SO

1. %

2. radially inward
L BAHSET FHO

3. Circular clockwise
L DTS 85FS

4. circular anti-clockwise
L DTS HBBE 0H3OES

Question Number : 16 Question Id : 5244765616 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Force experienced by a moving charged particle in a magnetic field is independent of

00006 3 (H0S AT w3, 800 3 s0° @230 ¥

B0 Q5500 0LNO.

Options :
1. Mass of the particle
8 (DO 50°%

I~

charge of the particle

ge90 B E) 70

2.8



3. Velocity of the particle

Ee90 3NE) S0

4. strength of the field
DO W) 20

Question Number : 17 Question Id : 5244765617 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Continuity equation is

FIA0D) DWEB0

Options :

. dp_

1.

2. VX + L=

2. 8
a_
3. Vp+dt
3. ®
; L
. 4 p+—-

Question Number : 18 Question Id : 5244765618 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s Faraday law

208 73S O DET EO?

Options :

i d= 2
- dt

D R

dt

2. %

3. VXE=2
. dt

4. VE =uB
4. %

Question Number : 19 Question Id : 5244765619 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Poynting vector of an electromagnetic wave with electric field E and Magnetic field H 1s

DEN5B T (50 E DO 900065 T (50 H &) NS0, 0ch

$B0K0 TBNE), Jronoe3oh IEd

Options :

1. El
1. %

2. EH
2. 8

3. EXH
3.

4. H/E
4. %

Question Number : 20 Question Id : 5244765620 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Time constant of a series Inductor (L) and resistor ( R) circuit 1s

089 20888 (L) 8050 BIRB (R) DB 56 BwE), DA Vorodo

Options :

1, |
1. %

2. LR
2.

3 RL
3. &

4. R+L
4. %

Question Number : 21 Question Id : 5244765621 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The condition for critical damping of a series LCR circuit 1s

DBV LCR D85 565 TBnE) SQARS $0D0h 850 Adeh

Options :
= RA 1
. —>—
% 4L LG
2 :
s IS
412 LC
2.9
R? 1
3. —<—
412 LC

3. &



Question Number : 22 Question Id : 5244765622 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Phase velocity of a monochromatic wave 1s

S (E0¢e38 IS T3wgy Do

Options :

1. ok
1.

2. o/k-
2. %

3. ok’
3. %

4 o
4. %

Question Number : 23 Question Id : 5244765623 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Eigen values of Hamiltonian operator are

NS A0HS 35BS TE), SBS Jende

Options :

1. real numbers

. PR DOWLEN

2. complex numbers
Ho8N Howsew

3. orthogonal vectors

STFIS JE8)

4. normalized vectors

FSEe35600S IEB)

Question Number : 24 Question Id : 5244765624 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

which property of electrons can be determined form Stern- Gerlach experiment

V8)-FT°S (DTIPHEO T ST° DO TS OZ 7Y ABoN0TIHY.

Options :



1. charge

@

1. %
2. mass
. 15507
3. spin
o]
PR SATS
4. energy
38
4, %

Question Number : 25 Question Id : 5244765625 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The core of an electromagnet should have
DDA 080 L), §5 £ somd.
Options :
1. high permeability and magnetization. low hysteresis loss and coercivity
OE FBHE5S OO N 0BESE, $50)85 F ROV SN0
SNOAM 2N0S0

1.«
2. high BH product and high loss
&S BH e5¢5 )€ 200050 08 SN0
2. %
3. low permeability and low hysteresis loss
550205 PEHS 55 SHOA 559255 SFRIBHD SN0
3. %
4. high permeability, low magnetization and high loss
0OE FBK05eh, 805 OVRT) 0BESEED DBA AE IO
4. ®

Question Number : 26 Question Id : 5244765626 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A small amount of indium incorporation in germanium results in

282000 £O TwedocS 208000 OIS0 HOSOM SN0,

Options :
1. n-type semiconductor

n-380 DWE0ED



2. p-type semiconductor

p-380 DWE0ED

3. 1nsulator

L adBed
4. metal
e DD

Question Number : 27 Question Id : 5244765627 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In an intrinsic semiconductor, the electron and hole densities are equal at this
temperature:

0$3ed Va0 EdS, S S VO(TS HOAW S
PO QATPSOTP €50LEFON:

L. FK

1.v

2. 7€

3. high temperature
&Y 5 &l(eb

4. all temperatures

@) &&fieden

Question Number : 28 Question Id : 5244765628 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In an unbiased pn Junction diode, the depletion region has
Qr)8 0S5 pn 808 S BBr&ES’, § eaeh (oo’ SO0ETOW.
Options :
1. electrons

NISIEENY

2. holes
S0P



3. mobile 10ns

S0BS ©osP

3. &

4. 1mmobile 10ns

P80 BR 05T

Question Number : 29 Question Id : 5244765629 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Heisenberg’s uncertainty principle 1s often written as
ITRVONY BE) D) (B0 S EVIOWEM N Moo

Options :

L. AX.ApZ%F

1.
2. Ax.Ap<—
5 % 4T
3. AX.Ap=—
3. % - . L
4. Ax.Ap=—
" Ap=r=

Question Number : 30 Question Id : 5244765630 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The concept of dual nature of matter was proposed by
DTPQO AWEY, 5508 5 N 523790 ABNEY, 270 (DBFOOV0E .
Options :
1. Louis de Broglie
erand & (5

1LV
2. Erwin Schrodinger
D0 S (ES0ND
2. ®
3. Heisenberg
TSR
3. %
4. Max Bormn

3°8) 5°6)

4.8



Question Number : 31 Question Id : 5244765631 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Physical interpretation of Schrodinger wave function 1s given by

IER0ND R DOE.S TBNE), 2T7°BE D38 B VI 52R0H.
P"’“;i Louis de Broglie
. orond & Sh

2. Erwin Schrodinger

D0 5 (ERd0ND

3. Heisenberg

. PO INTALS)
4. Max Bomn
L S5y &6

Question Number : 32 Question Id : 5244765632 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Heisenberg’s uncertainty principle indicates that
TR0 AMWEY 9N DFH0 TR DFNOE?

Options :

1. possible to measure accurately both the position and momentum
simultaneously

TS50 SO VOO0 BOA0E3A VET0S P NSO
80 P §eNYBOD

2. not possible to measure accurately both the position and momentum
simultaneously

TS50 OGN V00 BoB0e3A V&0 P NSO
830 P50 28

2.¥

3. both position and momentum are conserved

S0 BN VN0 Bor H0B8 0d2cTON

4. both position and momentum are not conserved

S0 DB JNDOEIO BOLT DB 8 092088

Question Number : 33 Question Id : 5244765633 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



The following equation indicates the orthonormal property of matter wave’s wave
function, here * indicates complex conjugate: dt 1s volume element and o6 1s kronecker
delta

DDEB0 DErP0o IS TBE) IS HoES BVws) sFTas S
O 5 DFDN0, QE)E * H08a DOTJPMTR) AFPDNOH: dr ©JE
TP 80 SO § IO (5L By

Options :

L. fIf ependr =6,

1.
2. JIf emendr =1
2. %
3 W enerdr=o0
LB [l omendr # 6,

Question Number : 34 Question Id : 5244765634 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The quantum number defines the shape of the orbital
2200 JoWS §8 5 S5O AP SDNOA.

Options :

1. principal

. ()T
2. spin
. SRS

3. magnetic

L, 0T 0
4. orbital angular momentum
L. 885 TeBad JwDoero

Question Number : 35 Question Id : 5244765635 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The unit of nuclear radius in an atom 1is

DBSFENHS'R e Fsard0o By AT

Options :



. Fermi

Do
2. Rydburg
» 3520

3. Bequarrel
23505

4. Cure
58

Question Number : 36 Question Id : 5244765636 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

X-ray emission from a material is due to the rearrangement of its
NP0 OB D5)-B Gored 598 £850EB8 eSO
COLNOA.
Options :
1. valance electrons

TSR DO SN

2. 1nner shell electrons

S'HO NS AO(TD

2.

3. atoms

IOAAINISY

3. &

4. nucleons

e 8B

4.%

Question Number : 37 Question Id : 5244765637 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Half life of a radioactive material with disintegration constant A 1s given by

DDNN) ¢ VTP0E0 1S BATIrer68 Her@o AW, DKo 2DS0

Options :

1. 0.693/A
1.¥

2. 0.693)1
2. &



3. 0.5A

3. &

4. 0.5/ %

4.%

Question Number : 38 Question Id : 5244765638 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of these fundamental particles make gamma rays

PO NE TS DA T 8B ST TR0,

Options :
l. protons

(OFEFR

2. electrons

L. OO(F
3. photons
BPRIE Vi

4. neutrons

Qe3P

Question Number : 39 Question Id : 5244765639 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The volume of the nucleus in an atom 1s proportional to its
HBSTENHES R TO(E0 TINEY DIDOITEL0 3°Q 8
NS HIFDIPS0S” G0ENOD

Options :

1. mass number

v. g
o 1935077 QO
2. proton number

FEFPS HOD
2. %

3. electron number

DO (TR DO

4. neutron number

QP §(EPR DO



Question Number : 40 Question Id : 5244765640 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Bragg’s law of x-ray diffraction 1s ( here A 1s x-ray wave length. d 1s inter planar spacing,
6 1s angle of diffraction and n 1s order of diffraction):
12320 T3NEY) 05)-8 BarEs QOO0 (RE)B L 0O 25)-8 I Soh. d
RO Q0D B WIV0H. 6 9T AarE S 5690 HOMSW n T
AErES 1¥50)

Options :

1. 2dsin@ =nA
LV

2 dsin8=nl
2. %

3. 2dsin@ =A
3. 0%

4 dsinf =A
4. ®

Question Number : 41 Question Id : 5244765641 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Scattering of visible light by molecules of a material 1s known as
2.8 DO A3E) N 500 EAVOT P08 BABOE)
0P
Options :
1. Raman effect

TN (292700

1. v
2. Compton effect
. SPORM (D2TD0
3. Zeeman effect
. 230°R (02PN0
3.
4. Stark effect
. D) 10270

Question Number : 42 Question Id : 5244765642 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Splitting of spectral lines in presence of weak magnetic fields 1s known as

OIS OO0 BB DNF oS SPHe Bped V25235
0erX.

Options :
. normal Zeeman effect

eI NVIST P TALNT!

1. ®

2. anomalous Zeeman effect

(808375 2857 (D270

2.

3. linear stark effect

OA0HD By 2§

4. non-linear stark effect

*S-OQ0HE FB) IS

Question Number : 43 Question Id : 5244765643 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In super conducting state a material is
JrHD 80800 VS 28 Hrdo

Options :

1. paramagnetic

- PO° @O0

2. diamagnetic
B AT ) €38

2.¥
3. ferromagnetic

. D8 wobaros
4. ferrimagnetic

Le D0 @I 0

Question Number : 44 Question Id : 5244765644 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Number of atoms per unit cell of a diamond structure is

BD0& QT°2£90 TNE) AT VO8 DB )O QoW .

Options :



1.¢

2. 18
2. %

3. 4
3. %
L 4 2

Question Number : 45 Question Id : 5244765645 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A plane intersects with x , y and z axis at 1/3, 2/3 and 1 respectively. Its Miller indices
are

2.8 50 S 1/3,2/3 DB 1 3D x . y 0O z 95 0 e NOA.
5D 086 Srden |

Options :
. o123
2 321
2. %
2. 312
3%
4. 632
4.

Question Number : 46 Question Id : 5244765646 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Momentum operator of quantum mechanics 1s equal to

S° (08I0 ST ) TN EY VD00 e3DTED 40 ddrdo.

Options :
1. -1hV
1.
2. 1hV
2. &
. 3. -ihv?
4. —h?*2m
4. %

Question Number : 47 Question Id : 5244765647 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Bhor’s theory of hydrogen atom proposes that

S8 BWOE), I ERS DS DE0S0 DSIENOA.
Options :
1. energy 1s quantized
o, 3800sSre3800%ad08

2. linear momentum is quantized

ODOHB TNOEIO HBITREBOIDR0E

2. &
3. spin is quantized
o )8 HeSre3E0BR00
4. angular momentum is quantized
L. SE305H IDoL0o HOIrEEB0DG0R

Question Number : 48 Question Id : 5244765648 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The conductivity of a semiconductor 1s given by

VW E0GBED B s T SO° R[22 0D.

Options :

l. 0 =neu

1. &
2. o = nepu
2. %
3. g =ne(u, + )
3.¥
. 4 &= nep(up + 1y,)

Question Number : 49 Question Id : 5244765649 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Electrons hole pairs in a super conductor are called

3708 80585 dOITS 20 S B3SO 0EF.
l.. Bardeen pairs
o, OS aden

2. exciton pairs

D8PS 23¢hew



3. BCS pairs
BCS 23¢bew

4. Cooper pairs
85700 23eden

Question Number : 50 Question Id : 5244765650 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The magnetic susceptibility of a super conductor 1s

JHB 080 TBE), ©0HRT) 0d TNDOE .

Options :
1 l.. zero
2.
2. %
3. -1
3¢

4. infinity
4. ®

Question Number : 51 Question Id : 5244765651 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Single mode optical fiber supports propagation of

2006 Ir& edS b (DT DD QOE.

Options :
l. meridinal rays

OAIS B egaren

1LV
2. skew rays

L S 8 eren
3. helical rays

. rdOES 8deren

4. all the above
NI

Question Number : 52 Question Id : 5244765652 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Preferable source of light used in fiber optic communications 1s

200 &E LA BTAS)S SHTTAOT 52088 TBNE), (TS SO

Options :
1. LED
1. ®
2. sodium light
SFAONO P03
2. &
3. laser
., ©e&b

4. mercury lamp

B0 BDHO

4.%

Question Number : 53 Question Id : 5244765653 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The number of Braves lattices of crystals 1s
Q)50 2R P30 oS

Options :

L
1. ®

2. 14
2.4

3 32
3. &

4. 230
4. %

Question Number : 54 Question Id : 5244765654 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A system 1s in thermal equilibrium separately with B and C then B and C are also in
thermal equilibrium with each other — this 1s the statement of :

A 35550 B 6050 C ©F DA R Do0E 5065 G0N0 ewern B
S0BAN C S 2.5 2.8¢3 B DoV S GOETO - AED
RB0E) D8,

Options :
1. zero law of thermodynamics

B IBIWE ) BwE) oar) &0

1.v¥



2. first law of thermodynamics

ST BINE ) T3nE) JES Do

. second law of thermodynamics

S I1BIWE ) TBwE), B0 DONHO

(8]

+

. third law of thermodynamics

ST 1BINE ) T30E) 050865 AADO

Question Number : 55 Question Id : 5244765655 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

For a Fermi-Dirac gas the probability of occupation of Fermi energy level is

28;-8B0°8 N §00 282 $8 Pond e ED 0T Hordsed :

Options :

1. zéro
1. %

2: W
2. %

. |
3.¢

4. infinity
4. %

Question Number : 56 Question Id : 5244765656 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The rate of cooling of a body which 1s at 600 K 1s R. The surrounding temperature 1s
300 K. The rate of cooling of the body at 900 K would be

600 K 5 €55) 3830 TB0E) BS$DESe Bew R. HOIS &8F(19¢5 300 K. 900 K
35¢ 680 TBnE), FSODESe Bew __

Options :

1. 16R/3
1. %

2. ZR
2. ®

3. 2R
3. &%

4. 2R/3
4.



Question Number : 57 Question Id : 5244765657 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Photons obey the following statistics
Ferden 308 HeFroseerdy VG &oeron
Options :

1. Fermi —Dirac

20 -80S
1. ®
2. Bose-Einstein
R 4 T
2
3. Maxwell-Boltzmann
S8 §O-5C®, 28
3. %
4. Classical
Ll SRES

Question Number : 58 Question Id : 5244765658 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If Ay denotes wavelength at which radiation emission at temperature T 1s maximum, then
hn SEEH55 T S5 BATDHNS &TB0 $ORNOT 50T SSORBTI) DD,
290))CR

Options :
1. Am1s proportional to T

. T & @0 HEr0aress0S &50en0d

2. Am1s inversely proportional to T

. T 8 QS 30506’ @ 0enod

2. ¥

3. )mis proportional to T*

. T8 @065 °550 05 06S &0eN0A

3.%
4. hm1is independent of T.
A, T OGO 5500 500

Question Number : 59 Question Id : 5244765659 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



If the temperature of the sink is decreased keeping the temperature of the source
unchanged, the efficiency of the Carnot engine

NP0 MBNEY, &L (19ed STBR0T GO0 T°ST° V0T B E), el iied
SN, 5 & K088 TBE) P50

[(ng)

Options :

1. increases

s oM eV - Vela

2. decreases

SN el

2. &

3. remains unchanged

AVelaV

3. %

4. efficiency does not depend on the source and sink temperature

D0Ges 0570 BN VO (e BGPENGR 0D

4.%

Question Number : 60 Question Id : 5244765660 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In canonical ensemble, a system A of fixed volume 1s in contact with a large reservoir B
then

FPAES DRSS, VY TFOFES TBWEY DR A DR 8230° 5058 BS
HDONBLOS HOEN0E. )

Options :

1. A can exchange only energy with B

A 3500 B& $8Q 3¢5 5500 ) Ker ¢

1. ¥

2. A can exchange only particles with B

A 3PS B & e S0)B TAHHEO

2. &

3. A can exchange both energy and particles with B

A 38 5068050 Sezeen BoB0e3 B 557815 TN

4. A can exchange neither energy nor particles with B

A 380 B 770N BS 577035 T8

Question Number : 61 Question Id : 5244765661 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



An 1deal heat engine operates in Carnot cycle between 227 and 127°C. Its
efficiency 1s

355505 oS RORS 227 SHBAMW 127°C ¢35 Y &S oS
DATNOR. T°Q D0Peh .

Options :
1. 10%
1. %
2. 20%
2. ¢
L. 3. 30%
4. 40%
4. %

Question Number : 62 Question Id : 5244765662 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

According to kinetic theory of gases, the average distance travelled by a molecule
between successive collisions 1s called

AN YE &3 DLP0H0 [DZSB0, S0 e 0855 @) (HDASrB0D
QMR AP e 0EXD.

Options :

1. path length

3300 )

1. ®

2. free path
. ) Srd0o

3. diffusion length

9

» NS ENLRIN)

4. mean free path
L e D Srgo

Question Number : 63 Question Id : 5244765663 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Diffusion coefficient D 1s proportional to the absolute temperature raised to power

A58 FANNCH0E D A $88 28RS Do Y G555y
e NS H¥EDTH0S BoENod

Options :
. L2
2. %
2. ® - )
3. 312
3.
4. 3
4. %

Question Number : 64 Question Id : 5244765664 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Entropy 1s the measure of order of in a substance
DO’ B 2.8 Do’ 1300 DB, Teres.
Options :

1. Pressure

2,83¢3

2. temperature

&8 (9ed
2. %
3. volume
L. O
4. disorder
L, QoMes

Question Number : 65 Question Id : 5244765665 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

When a substance undergoes a reversible adiabatic process. the physical
quantity which remains constant 1s

2,8 HErQ0 8563206 0BAaSTereS§ (HBOHZL MHB D)., VBT SO
258 DBNSFE0

Options :



1. Pressure

2,89¢3

2. volume

S CAT®S o)
2. &
3. temperature
3. & ﬁ%sLﬁé
4. entropy
DO
4.9

Question Number : 66 Question Id : 5244765666 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Mathematical form of Second law of thermodynamics 1s

S8 1BIWE) AW0E) DO AT W E), Kieed BrdO

Options :

1., T=d8
1. ®

2. dQ=T/dS
2. %

3. dQ=TdS
3.¢

4. dS=TdQ
4. ®

Question Number : 67 Question Id : 5244765667 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

. L ary .
The partial derivative (E) 1s equal to
S

8 & &5 190 (E) 50 DATSO.

av/g

Options :

L (),
-G,
gt

I~

2.

d

3. %8



4+ (),

Question Number : 68 Question Id : 5244765668 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

4. ®

Joule —Kelvin expansion is an
2"O-8E) 30 DG 2.8

Options :

1. Iso-entropic

0F-JO(E DG

1. ®
2. 1soenthalpic
) VPO NS
2. ¥
3. 1sothermal
. PPN
4. adiabatic
©ASrere3s
4. ®

Question Number : 69 Question Id : 5244765669 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In an 1sothermal and 1sobaric process 1s constant
DFHBIS B 0Fr65 |HBaHeS VB0 SOLNOD.
Options :

1. Temperature

&8 ((9ed

1. &%
2. pressure
L 298
3. Gibb’s free energy
L D) eds g
3o
4. Helmholtz free energy
. OIS, G $8

Question Number : 70 Question Id : 5244765670 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



The inversion temperature in terms of Vander Waal’s constants a and b 1s

0D S TWNE) VTO5T a BAIW b NSO DS SaF(Heh .

Options :
. 2a
1. —
RD
1. %
2b
2. —
Ra
2. &
2R
3. =
3 % ab
2ab
4. =
4. % B

Question Number : 71 Question Id : 5244765671 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The maximum wavelength of sun radiation 1s 4800 °A. The temperature of sun (given
Wein’s constant =2.9 x 107 m-K)

Q7S DBE0 TGy (HBR SS0NTE50 4800 °A. AT &P (5 (DS
V00 =29 x 10° m-K)

Options :
1. 5080 K

1. ®

2. 6040K
2. %

3. 7050K
3. &

4. 8000 K
4. ®

Question Number : 72 Question Id : 5244765672 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The lateral chromatic aberration can be reduced

35 DY DhOT) 5 0TISTV).

Options :

1. by using plano-convex lens

S -B00275S B ) SOBPA0IE0 o So°



2. by combining a converging and diverging lens
855000 B3 BHQ0H B Y EHe0o @ sT°
2.
3. 1ncreasing the dispersive power of lens
BS) TASFE) ¥8 o0 e so°
3. %
4. by using convex lens
002750 B o3RO0 ° so°
4. ®

Question Number : 73 Question Id : 5244765673 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The wave lengths of light used in an optical instrument are 4000 and 6000 AU. The
ratio of resolving power 1s

S0ES HOEB0S &HTITrAOT 0 SSORTYSO 4000 SHEASH 6000 AU.
DOF) S 38 By AN

Options :

1. 23
1. ®

2. 32
2.

% k2
3. %

4. 13
4. %

Question Number : 74 Question Id : 5244765674 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Two waves have intensity ratio of 25:4. What 1s the ratio of maximum to minimum
intensity

BOC SSOTPED 25:4 B(5¢d AAIB $OA GO . $8R HOASN IR &3|deh

SB0EY AN DOeh
Options :
L. 52
1. ®
2. 625:16
2. ®
3. 9:49
3.
4. 499
4.9



Question Number : 75 Question Id : 5244765675 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In a double slit experiment, two slits, 4 mm apart are illuminated by light of wavelength
6000 AU. What is the fringe width on a screen placed 2 meters from the slits

%20 VE (HTrHoS, 4 e ArEoS’ &) Botd DOEen
S$S08ES50 6000 AU 52083 T S0° |HFI N, Ve 00 2 oerd
BrBE0S GOTIDAS (2D 0T RseN ) .

Options :

1. 0.1 mm
1. F

2. 4mm
2. W

3. 0.3 mm
3¢

4. 3Imm
4. ®

Question Number : 76 Question Id : 5244765676 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The edge of a sharp needle does not give sharp image on a screen because of

DNV ST @0t BER DENTS V(@) QS 50 DONEOT) .

Options :
1. interference
. &80
2. polarization
10D
2. 8

3. diffraction

DE DO

4. dispersion
75

Question Number : 77 Question Id : 5244765677 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



The phase difference between two interfering waves of wavelength A 1s 30 degrees, the
path difference between them 1s

S$301B850 K TZNE) DO 0BT ON0 EOAOT SSOMmre eSS 5%
353500 30 AR, °e3 S B0 S5O0

Options :

1. A/3
1. %

2. M6
2. %

3. A9
3.%

4. W12
4.

Question Number : 78 Question Id : 5244765678 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If N1 and N2 are populations of lower and upper energy levels respectively. then
condition for population inversion 1s

N1 08050 N2 SB0OT ¢$807.63 000N Died $8 Frone Barer @ons,

272> DS HOVE
Options :
. 1. Nl=N2
2. NI=N2
2.+
3. N1<N2
3. &
4 NIN2>1
4. %

Question Number : 79 Question Id : 5244765679 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In Fraunhofer diffraction. the distance between the source and screen 1s

S TN8 BErE S, Sare0 SO (DS DB EFSo

Options :
1. finite
L HODMSDIG
2. 1nfinite
5050

2.



3. small

. AN
4. zero
L QD)

Question Number : 80 Question Id : 5244765680 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not a process related to lasing

808 ¢3S BR0MZ H02O0HODS 1HEH 5°¢%.

Options :
1. population inversion
232 SN0
1. ®
2. spontaneous emission
) es88 &S0
2. %

3. stimulated emission
& B22¢h ST

4. light amplification
SP0ed DB

Question Number : 81 Question Id : 5244765681 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In single mode optical fibers the light 1s transported as

2006 Irdh $RES DbOS 0N e SeTET TDONDEDSOA.

Options :
1. axial rays
8 D020 s

2

meridonal rays

DOEIS &8Bszeen

2.8

3. scattered rays

DTN &) 8BeTPen



4. all the above

2ID)

4. %

Question Number : 82 Question Id : 5244765682 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Holograms records of light
2SS (TP e 5P0Q ST BROW.
Options :

l. intensity

3 (5¢b

1. %
2. phase
&%
2. %
3. both intensity and phase
- (565 SHOASN 5% BoT

4. either intensity or phase

B(S5 B 5%

Question Number : 83 Question Id : 5244765683 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Step index fibers are
W R0TE) Dad)

Options :

1. Single mode fibers

- 0oAS & b))
2. multimode fibers
. O3> 20

3. both single and multi-mode fibers

20AS HBAN HND-Tr& Dben Dok

4. transverse mode fibers

DS & Dd)

Question Number : 84 Question Id : 5244765684 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



A vector 1s solenoidal 1f 1ts

JEB FOSToNRS ©Hnod, OONS.

Options :

1. divergence is zero

- DZ30 o)
2. gradient is zero
(293€9€5 OT°)
2. %

3. divergence is non-zero

BIVR) I HT°) 5o

4. gradient 1s non-zero

292969¢5 T°) IO

4.8

Question Number : 85 Question Id : 5244765685 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Integral form of Gauss divergence theorem of vector analysis is

356 DB0e B, TR BSIDS) DT0e50 TNEY, Do E00 .

Options :

l. ffs A.ds = fff' VAdv

2. [I, Ads = [ff (VX4)dv
3. [f, Ads = [|] Adv
4 ffs ds = _[ff VAdv

Question Number : 86 Question Id : 5244765686 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In planetary motion which of the following quantities is conserved
1557 230806S" 808 HBSTETOES DA 2D EIDS 0.
Options :

1. linear velocity

DS Dtjo



2. angular velocity

305 SKjo

3. kinetic energy

e 8

4. angular momentum

305 TOLO

4.9

Question Number : 87 Question Id : 5244765687 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

For a perfectly elastic collision the value of coefficient of restitution 1s

HoY*E rn @8R §00 HAIBNSED K980 TBwEY Dewsd

Options :

1. zero
1. &%

2. D
2. %

3 1
3.¢

4. 1.5
4, ®

Question Number : 88 Question Id : 5244765688 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Moment of nertial is a symmetric tensor of rank

23¢8¢5 0 T3NEY 00 IO O°505 T30E) R B&)HO.

Options :

1. zero
1. %

2. one
2. %

3. two
3.

4. three
4. ®

Question Number : 89 Question Id : 5244765689 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



The diameter of orbit of a planet around the sun 1s 25 times the diameter of earth’s orbit
around the sun. The time of revolution of the planet 1s

QPSR O Fa370 T30 EY 88 5 AINEY 7500 PGSR TOEYT 2357
S30E) 88 5 DGy 0500 0T 25 BEY & OLNOA. 1870 TBNEY DO
AW ervWe!

Options :

1. one year
1. %

[§]

25 years
2. &

3. 125 years
3.¢

4. 625 years
4.8

Question Number : 90 Question Id : 5244765690 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Match the phenomena that occurs at relativistic velocities

T 0E I 5 HOBNOT BA 50T HOFeYOR.

1. mass a. Contracts
1835077 2000 )OTI°EN
11 .Time b. Increases
QNANO (oM Veln)
11. length c. Dilates
) SN0
Options :
- 1. i:a ii-h; iii=c
2. 1-b, 11-c, 11-a
2.9

3. 1-c, 1i-a, 111-b

4. 1-a, ii-c, 1i-b
4. ®

Question Number : 91 Question Id : 5244765691 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



In simple harmonic motion the following quantity 1s conversed
S (BSOS ERDES” (BoA HBIPEI0 D02TFN0IDSH 0.
Options :

1. kmetic energy

&3 $8
1. ®
2. potential energy
R SIeEAE S

3. total energy

Swsdo 38

4. gravitational energy

e 580 38

4.%

Question Number : 92 Question Id : 5244765692 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The angle between the vectors AXB and BXA where A and B are vectors is

A 38050 B IE5) @000 AXB 08350 BXA 38D 20855 S0 .

Options :

1. zero
1. %

2. T
2. %

3. w2
3. %

4. w/4
4. %

Question Number : 93 Question Id : 5244765693 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Units of scattering cross-section of a particle 1s

2,8 8800 TNEY Y000 570 VEQ AW E) APQED

Options :

1. Newton

NVIATS)



2. Dyne
B
2. 8 —_
3. Joule
. D)
4. Bam
» 2*0)

Question Number : 94 Question Id : 5244765694 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Rotational kinetic energy of a rigid body 1s

B9 S B0 T3NE), (250 19ed ¥8

Options :

1. To™/2
1.

2. P
2.33

3. Io
3‘33

4. Pw?
4.8

Question Number : 95 Question Id : 5244765695 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The product of torque and angular velocity has dimensions of
e35), S0BASD 30D Difo W), ered B8 Ferehen) GOEFON.
Options :

I. Energy

3

(]

work

O

3. acceleration

¢ ¢80



4. power

D50

Question Number : 96 Question Id : 5244765696 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Central force 1s negative gradient of
0RO 0 038 (Dededeh,

Options :

1. Acceleration

L, 650880
2. velocity
ETolo
2.

3. kinetic energy

Kes %8

3. %

4. potential energy
Hozrds 48

Question Number : 97 Question Id : 5244765697 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

According to Kepler’s law the radial vector joining planet and sun sweeps equal
in equal intervals of

T8 QN0 (DBF0, (155770 0B SRR §0 BAAHS JEd

DAFPSO™ HBASH DTS H555ES &0eN0d.
Options :
1. Area, time
(BP050, QN0
1. %
2. area, velocity
050, R0
2. %
3. wvelocity, distance
. 360, drdo

4. velocity, time

S50, dhavo



Question Number : 98 Question Id : 5244765698 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Under which condition Lorentz transformation of special theory of relativity will
become Galilean transformations

D HOVBS’ STB0F |HDBE T 0E. DT°050 TINEY HOSSS BODHS
B 0SS TP €96)0R.

Options :

1. c<<v
1. ®

L. W
2.4

3. ¥
3. %

4. c=<v
4, %

Question Number : 99 Question Id : 5244765699 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If a rod of the length 1, 1s moving with velocity 0.8c. what 1s its apparent length 1s

lo &85 B> T°8 0.8¢ SHOS SN S0) LONSB, T DIQADS &6

Options :

1. 061
1. ¥

2. 1.661,
2. &

3. Lo
3. %

4 21
4. ®

Question Number : 100 Question Id : 5244765700 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

For a particle executing SHM the phase difference between the displacement and
velocity 1s

SHMQ @000 D 778 725050 08050 D50 0eds &%
ETLO0

Options :

L. w2

1.4



2.8

3. w4

3. &%

4. w6

4. %



